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A person left a property amounting Rs. 30,00,000/-. Calculate the amount of his wife if he had
no child.
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The price of 20 pens is Rs. 2000/-, What will be the price of 40 such pens?
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An amount of Rs 400,000/ left as an Inherilance 1s to be distributed among
a widow and four daughters. Workout the share of each.
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A shop keeper gains a profit of 7% by selling a Dinner Set for Rs, 3852/ if he sells it
for  Rs.40350/ find  his  profit in  percentage.
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Find Compound Profit of Rs5000/- at 4% per annum for 2 years and 6 months.
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Khalid works fdavs a week, I'ind his Gross Monthly Wage, if his rate of pay is
Rs. 200/ per  dav.
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The Radius of Earth is 6400 Km. Convert it into meters and write the solution in
Scientific . Notation.
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If the A.M. between 5 and b is 10, then find the value of " b",
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oA = {1,2.3.4.5.6}. B =1{2.3,4,6} and
¢ = {2..‘..4.7,8.9} then prove that (ANB)NC = An(BNAC)
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Find the Standard Deviation  for the wvalues 1,2.3.4,6.8,11. Also find

the Variance n this case.
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